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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

) 6+1=

2 4+1=

3 47+43=

4) 847 + 149 =

5 11+4=

6) 11+9=

N 4+1=

8 16+1=

9 19+13=

10) 39+11=

11) 50+47=

12) 62+ 18 =

13 7+6=

14) 5+1=

15) 667 + 240 =

10.

11

12.

13.

14.

15.

Risposte

1-10

[M atematl Ca] www.CommonCoreShests.it 11-15

93

87

80

60 | 53|47 |40]33]

27

20

13




.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

Addizione (orizzontale) Nome: Soluzioni
Risolvi ogni problema. Risposte
6+1= 7 . v
4+1= 5 2 )
3, 0
47 + 43 = 90
4 996
847 + 149 = 996 . 15
11+4= 15 6. 20
7. 5
11+9= 20
8. 17
4+1= 5 . 32
16+1= 17 10. 50
11, 97
19+13= 32
12, 80
39+11= 50 . 13
50 +47 = 97 14, 6
15. 907
62+ 18= 80
7+6= 13
5+1= 6
667 + 240 = 907

15)
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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

{

17
50

20 7
90 32

996

s ]] 1.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

6+1=

4+1=

47 +43 =

847 + 149 =

11+4=

11+9=

4+1=

16+1=

19+ 13 =

39+11=

10.
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